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y=0.5;x=y;x=y+ 2.5;
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x=x*y; WEN: x*=y;
x=x+y; HEHN: x+=y;
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cout<< (i=1)<<endl;
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#include<iostream>
using namespace std;
int main ()
{

int a=3,b=2;

cout<<"a="<<a<<" "<<"p="<<b<<endl; / /% R A2 e A
a=atb;
b=a-b;
a=a-b;
cout<<"a="<<a<<" "<<"p="<<b<<endl; / /% A2 s AR

system ("pause") ;

return 0;
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a=3 b=2
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finclude<iostream>
using namespace std;
int main ()
{

int a=3,b=2,c;

cout<<"a="<<a<<" "<<"b="<<b<<endl;
c=aj;
a=b;
b=c;
cout<<"a="<<a<<" "< "b="<<b<<endl;

system ("pause") ;
return 0;

}
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#include<iostream>

N oee B33 SERRMAT IR
{
int a=89,b=76,c=95,d=62,¢;
cout<<a<<" "<K<Lb<<" "<<c<«" "<<d<<endl;
e=d;
d=c;
c=b;
b=a;
a=e;
cout<<a<<" "<<Lb<<" "<<c<«" "<<d<<endl;
system ("pause") ;

return 0;

BT 4

89 76 95 62
62 89 76 95
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int a,b[30];
b, PSS B AR [A] — R ARUBR AT . il
int a[30],b[30];
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#include<iostream>

using namespace std;

int main ()

{
float c,d;
cout<<"c="<<c<<endl;
c=5.0/2.0;
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cout<<"c="<<c<<endl;
d=5/2;
cout<<"d="<<d<<endl;
system ("pause") ;
return 0;

}
BATE R

c=2.5
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#include<iostream>

using namespace std;

int main ()

{

int c;
c=5.0/2;
cout<<"c="<<c<<endl;

system ("pause") ;

return 0;

BATER

c=2
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3.2 N/ EHR

BN/ R/ R — FR B S T B ein” L cout” 2 B E R /i i
T HE SCHY P A TSN G AT 127G BRI “cin” “cout "M L . W EE AT,
TEAE I “cin”  “cout™ Bif » ] 4 126 T A B A4 K5 BT 0 T A9 Sk S 35 B DR e o o [ I P
W] i 44 23 [8]

#include<iostream>
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using namespace std;

3.2.1 HWEA cout

YT EAE SRR b s E s AT LU AR AR AR AT <<<"1a) cout fay i A A
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Moo

FIF
fan .

cout<<"hello";

AR AR PAT 45 HZ A8 hello f i 257 %5 1.
i Hh U AR B4R T R AR R T S8 BUBCHE AL PR R TR R LUE S8 X B B
o A A AR RS ST R T R AR

1. FERNEmd
cout<<FIAHK 1<« F A K 2<< << FER n;
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#include<iostream>
using namespace std;
int main ()
{

int a=1,b=2,c=3;

cout<<a<<b<<c<<endl; //123
cout<<a<<" "<<b<<" "<<c<<endl; //1 2 3
Cout<<"Hi"<<"Frank"<<endl; //HiFrank
cout<<"Hi"<<" "<<"Frank"<<endl; //Hi Frank

system ("pause") ;

return 0;

1 2 3
HiFrank
Hi Frank
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(1) 58 5 B 0 R AR e setw (o BE{ED

FRAT AT AR A A s A ) R el 0t R RSO 1D R B Bl SO TR B

(5 3-6  Hda ¥ vi FE i it

(iR @arar) S AA U setw (n) 1 R IE 50 2 i 98 5 4. cout<<<Tsetw (5) << <C
255<<<endl;,

[E5ET)  BHIAE N TR B . W cout<<<Tsetw(3) <T<T1<T<Tsetw(3) << <<
10<<<T setw(3)<C<C100; Hy 459 A 110100 (BRI 2 A X 55, UK E KT 3 0
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#include<iostream>
#include<iomanip>
using namespace std;
int main ()
{
int a=10,b=2,c=100;
cout<<setw (5)<<123<<endl;
cout<<a<<b<<c<<endl;
cout<<setw (2)<<a<<setw (2)<<b<<setw(2)<<c<<endl;
system ("pause") ;

return 0;

BATERN
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102100
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(2) WEB P FIFREL . setfill GHREFAH
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(a4 sethill BWE BRI FR, W cout<<<Tsetw (6) << <Tsetfill(" $ ) <T<C
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#include<iostream>

#include<iomanip>

using namespace std;

int main ()

{
cout<<setw(5)<<setfill ('#')<<123<<endl;
system ("pause") ;
return 0;

}
BATEE R
#4123

(3) 5 i RS P 1 pRER . setprecision (A R 0
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#include<iostream>
#include<iomanip>
using namespace std;
int main ()
{
float a=10.0/3,b=2.0/3;
cout<<a<<" "<<b<<endl;
cout<<setprecision (2)<<a<<" "<<setprecision (2)<<b<<endl;
system ("pause") ;
return 0;

}
BAT4S

3.33333 0.666667
3.3 0.67
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cin>>ARHE 1>>7AFH 25> >> A8 i n;

cin PR A 72 PP SR A R BOHE 28 B 5 e O R Y 2R R — 2, O HL S A R B )
Tab 8454 70 I o 0] 425 KR g A 52 B2
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a,b,c WEIAER, cin>>a>>b>>c

PATIE BB
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45

a=20, b=30,c=40

A .

x NEERB L, o PR, cin>>x>>c;
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c='%$"', x=2.56

J T IE W0 A B AR ATE R Z R0 WA — A R DL R R (S B
i 4n .

cout<<" a,b,c ="<<endl;
cin>>a>>b>>c;
WA 2;

WA n;

(51 3-91 A cin pRECNEE B I B A EHE .
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[E%i&iTY cin REBEHE R DT cin>>4 AT IR 2 200, o] LUF HHE 5
SE L REHEHSSEER., Hln. LT REFH cout &) # R A . H cin 15 ) B A
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#include<iostream>

using namespace std;

int main ()
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int i;

cout<<"input i"<<endl;
cin>>1i;
cout<<"i="<<i<<endl;
system ("pause") ;
return 0;

}
AT R is 7 o -

input i
523 (enter)
i=523

[ 3-10] DL 2 7 iy B 45 5 A 96 > UK B2 504 7
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#include<iostream>
#include<iomanip>
using namespace std;
int main ()
{

double x,y,z;

cout<<"Enter x & y:"<<endl;

cin>>x>>vy;

H, 2= X;X—Yy3;Y—2;

AR x My x My . fE S R
SR R R B AT T S
28 3 0 B S T A TR AR 3 AL Al

=R A S IR x

cout<<"x="<<x<<setw (6)<<"y="<<y<<endl;

Z=XiX=Yiy=2Z;

cout<<"x="<<x<<setw (6)<<K"y="<<y<<endl;

system ("pause") ;
return 0;

}
BATEER

Enter x & y:

3.1415926 2.71828
x=3.14159 y=2.71828
x=2.71828 y=3.14159
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